KoHTponbHasa pabota Ne3 (1 yeTBepTb) "Hucnosble n 6ykBeHHble BblipaxeHUa"

BapwuaHrT I.
1. Hangute 3HayeHune BblpaxeHust: ((c - 34) *d - 120), ecnin c = 154, d = 8.

2. YNpocTuTe BblpaXeHus:

a) 384 - c + 239 - 93; 6) 485 - 483 + (d + 352).

3. PewunTe ypaBHeHuUS:

a) ((259 - (45 + x)) - 18 = 125; 6) (34 + (19 -y) + 15) = 68.
BapwuaHr Il.

1. Hangute 3HaveHue BbipaxeHus: ((c - 234) *d - 120),ecrimc =268 nd = 5.

2. YnpocTuTe BblpaXKeHus:

a)d + 594 + 78 - 456; 6) 212 - 117 + (c + 92).

3. Pewnte ypaBHeHus:

a) (259 - (45 + x)) - 16 = 123; 0) (29 + (59 -y) +15)=72.
BapwuaHr lil.

1. Hangute 3HayeHue BblpaxeHus: ((c - 103) *d - 120), ecnmc =137 nd = 6.

2. YNpocTuTe BblpaXeHus:
a) 21 + 394 + e - 256; 6) 234 - 158 + (z + 92).

3. PewunTe ypaBHeHuUS:
a) (201 - (145 + x)) - 16 = 14; 6) (38 + (59 -y) + 15) = 75.
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